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0-0001

oulo

Co As

.08.01(0) DT BH
cCC TC
RTC

OCOO0OO0OOO0COO N
POOOOOONPR

(DD ) (1)

(0. 04 %)




0-0002

X1000
Y1G03 1
1
Y1G0321 2
1
Y1G0321083
1
Y1G032108401
23
2¢cm SPK200@80372
23 0O -0001
Y1G032108402
20mm 50mm , 200 mm
1,016
Co ( [ ( ) 1) SPK200080350
200 mm 500mm
1,016 0O -0002

SD345, p19x285

46

Y1G032108403




0-0003

SD345, p19%x285

46

vo372000

0O -0003

SD345, 922x330

70

Y1G032108403

SD345, 922x330

70

vo372001Q

0O -0005

Y1G032108404

24-12-25(20) BB
31
) SPK20000378
24-12-25(20) BB
31 0 -0006
Y4999 4
17
V0151 00
17 0 -0007

70

Y1G032108405

70

SPK200080377

0 -00009




0-0004

Y4999 4
2 m?2
SPK20080118
t=10mm
2 m2 0O -0010
Y1G032108407
SD345, D13
0. 4 45
( ) SPK200@80376
SD345 D13
0. 4 45 0O -0011
THO003900
D13
445 k g
Y1G032108407
SD345, D16
2. 579
( ) SPK200@80376
SD345 D16 25
2. 579 0O -0012
THO00390A1R2
D16
2,879 k g
Y1G032108407
SD345, D19 25
3. 095




0-0005

SPK2000@80376

SD345 D16 25
3.0% 0O -0012
THO0OO03904
D19 D25
3,095 k
Y1G032108409
460 m
( S5294 00
460 m 0O -0013
Y1G0323 2
1
Y1G0323013
1
Y1G032301402
350 m
1350PS (993kW) vo700000
50m N 2
350 m 0O -0016
1350PS (993kW) vo7000RQ0
50m N 2
350 m 0O -0018s8




0-0006

vo7000860

1350PS (993kW)
1 0O -0019
Y1G0323053
1
Y1G032305401
32 mm 420mm 500 mm F=0.2589
54
SPK20080329
_ D22
420mm 500 mm
54 0O -0021
Y1G032305401
35 mm 460mm 540 mm F=0.2589
08
SPK20080329
_ D25
46 0mm 540 mm
08 0O -0022
Y1G032305401
26 mm 250mm 300 mm F=0.2589
20
SPK20080329
_ D16
250mm 300mm
20 0O -0023

60

Y1G032305402
F=0.2589




0-0007

( Co SPK20080332
60 m2 0O -0024
Y1G03230540 3
30-12-25(20) BB
54 m3
v5043008
54 m3 0O -0025
Y4999 4
F=0.2589
1 m3
vol51 00O
1 m3 0O -0031
Y4999 4
36 m
( ) v3030008
36 m 0O -0033
Y1G032305404
SD345, D13
0. 07t8
( ) S5298 00
78 0O -0034




0-0008

THOO03900
D13
78 k g
Y1G0323054014
SD345, D16
2. 834
( ) S5298 00
34 0O -0035
THO0OO0390282
D16
34 k g
Y1G0323054014
SD345, D19 D25
2. 142
( ) S5298 00
42 0O -0035
THOO390a4a
D19 D25
42 k g
Y4999 4
SD345,D22xD22
8
vVvi0o00100812
D22xD22
8 0O -0036




0-0009

Y4999 4
SD345,D25xD25
16
vi0010@286
D25xD25
16 0O -0037
Y4999 4

SD345,D16xD16

60

D16xD16

60

viooi10we

0O -0038

M12x60

80

Y4999 4
F=0.2589

M12( W1/ 2) x70

80

SPK200080412

0 -0039

60

Y1G032305405

60

v5180 00

0O -0040

#0044




0-0010

60

FOOOO0O5M08001

Y1G0327 2

1
Y1G0327053
1
Y1G032705401
25
) SDT000G®3
25 0O -0042
Y1G0327153
1
Y1G032715401
Co
25
SPK20080146
Co(
DI D . 5km 2.5km )
25 0O -0043

25

Y1G03271540 2




0-0011

#0041

Co FO0O41000002
60
Y1J01 1
1
Y1J0101 2
1
Y1J0101213
1
Y1J010121401
60
R0O369 00
60
#0020 = )

Z0002




0-0012

YZZ02 2
1

YZZ202001 3
1

YZZ202001040 8
1

v2001008
00 0O -0044

Z0006

YZZ06 2
1

YZZ06001 3
1

YZZ06001040 6
1

60

V6001006

0O -0050




0-0013

Z0009
YZZ09 2
1
YZZ09001 3
1
Y4999 4
1
S9740 00
FRP D 180PS 10. 0t 132kWwW
10 0 -0051

Z0019




0-0014




2cm SPK20040372 0O -0001
1 m?2
0. 00% 100. 00% 0.00% 0. 00% 7,381
( ) ) ( )
RTPC000(Q1
72. 13% RTPT000(d1
RTPC0O0O00(Q2
10. 29% RTPT000(d2
RTPCO0O00Q9
9. 33% RTPT000Qd9
( ( EROO0O9
EPOO1




Co ( ( )] )SPK20040350 0 -0002
200 mm 500 mm 1
: 0. 00% : 100. 00% : 0.00% 0. 00% 1,809
( ) ( ) ) ( )

RTPC000(Q1
55. 73 % RTPT000(Q1
RTPC0O00O0Q9
28. 31% RTPT000(Q9

( ) ( ERO0O0Y9

EPOO1

A=1 200mm 500mm B=1 - ( )




0-0017

V0372019 0 -0003
SD345, 19x285 100
0-0004
100
14.95k(g
100




SPK20040373 0 -0004
1
0.00% 100. 00% 0.00% 0.00% 818
( ) ) ( )
RTPC000Q1
53.25% RTPT000(Q1
RTPC000Q?2
25. 78% RTPT000(Q2
RTPC000Q9
17.13% RTPT000(Q9
( ( EROOO
EPOOL




0-0019

V0372022 0 -0005
SD345, 922x330 100
0-0004
100
19. 47k
100




( ) SPK20040378 0 -0006

24-12-25(20) BB 1 m3

: 15.02% 43.55% 41. 43% 0.00% 40, 62
( ) ( (
MTPCO0O0OO
15.02% MTPTO0O0O
65 85m3/ h 65 85m3/ h

RTPCO00OO
18.21% RTPTO00OO
RTPCO00OO
11.31% RTPTO00OO
( ) ( ) RTPCO00OO
8.20% RTPTO00OO
RTPCO00OO
4. 48 % RTPTO00OO

( ) ( ) EROO0O9
TTPCOO34
24, 12, 20(25)39.34% 24-12-25(20) W/ C 55% TTPTO0O034

W/ Cc(55 ), (

1.2 TTPCOOO 1
.2 4KL 2.09% TTPTO0O0O 1

EPOO1




0-0021
( ) SPK20040378 0 -0006
24-12-25(20) BB 1 m3
; 15.02% : 43.55% : 41.43% : 0.00% 40,627

( ) ( ) ( ) ( )
A=1 24-12-25(20) BB c=1 - ( )




0-0022

V0151 0O -0007
1 m3
0-0008
1 m3
1 m3




v015101

0

-0008

0-0023

m3

#01




( SPK20040377 0 -0009
- ( 1 m2
0.00% 100. 00% 0.00% : 0.00% 10, 344
( ) ( ) ( )
RTPCO0O0O010
62.13% RTPT00010
RTPC000Q9
14. 50% RTPT000Q9
RTPC000(Q2
9.58% RTPT000(Q2
( ( ) EROO09
EPOOL1




SPK20040118 0O -0010
t=10mm 1 m?2
0. 00% 38.22% : 61. 78% 0. 00% 1,922
( ( ) ) (
RTPCO0O0O0Q2
31.83% RTPT000Q2
RTPCO0O00Q9
6. 39% RTPT000Q9
TTPC00199
61. 7T8% 10mm TTPT00199
10mm
EPOO1
A=1 t=10mm




( ) SPK20040376 0 -0011
SD345 D13 1 t
: 0. 00% 61.62% 38.38% 0.00% 198, 640
( ) ) ) (
RTPC0O0O0O018
39. 73 % RTPT00018
RTPC0O0O0O0Q2
10. 62% RTPTO000Q2
RTPC0O00O0Q9
6. 19% RTPT000Q9
( ) ( ) EROO09
<JI1 SG3112> TTPCO0O0O0(Q1
SD345, D13 38.38% SD345 D16 TTPTO0O0O0YH6
0.995kg/ m
EPOO1
A=1 SD345 D13 Cc=1 - ( )




( ) SPK20040376 0 -0012
SD345 D16 25 1 t
: 0. 00% 61.62% 38.38% 0.00% 198, 640
( ) ) ) (
RTPC0O0O0O018
39. 73 % RTPT00018
RTPC0O0O0O0Q2
10. 62% RTPTO000Q2
RTPC0O00O0Q9
6. 19% RTPT000Q9
( ) ( ) EROO09
<JI1 SG3112> TTPCOOOYH6
SD345, D16 38.38% SD345 D16 TTPTO0O0O0YH6
1.56kg/ m
EPOO1
A=2 SD345 D16 25 Cc=1 - ( )




S52914

-0013

0-0028

100

221kW

m2
0-00114
0-0015

100




0-0029

S9728 0 -0014
5 40t 94k W 1 ( 8 1
9.4 10L 94/ 10
( )
1.20 1*1. 2
6. 00 5*1. 2
1 9
35 40t
1.65%1
35 40t
( )
1.65%1
300t
1
A=1 35 40t 94k W B=1 )
c=3 6 h




0-0030

S9736 0 -0015
300ps 221 kW 1 8 1
6.9 10L 69/ 10
, 0.5
1.20 1*1. 2
1.20 1*1. 2
2 9
D300PS 25GT
( )
1.65%1
1

300ps 221kW B
2h D

o>
non
=W
non
o
(o




0-0031

1350PS (993kWw) V970001 0 -0016
50m N 2 5392 m3
0-0017

ps 1
GNSS

GNSS 1

#01
0.5
5,392




0-0032

S9700 0 -0017
1
5356.4 10L 5354/ 10
3.22 2*1.61
3.22 2*1.61
32.40 20*1.62
16
D1350PS
1.65
1




0-0033

1350PS (993kWwW) V970002 0O -0018
50m N 2 5042 m3
0-0017

ps 1
GNSS

GNSS 1

#01
0.5
5,042




0-0034

V970003 0 -0019
1350PS (993kW) 1
0-0020
ps 0.5
GNSS
GNSS 0.5




0-0035

S9700 0 -0020
ps
2.00 2*1
2.00 2*1
20. 00 20*1
(
1
1




SPK20040329 0 -0021
D22 420mm 500mm 1
0. 00% 74. 69 % : 25.31% 0. 00% 2, 36
( ) ( ) ) (
RTPCO0OOGQG
39.87% RTPTO0O0O0G(
(1.2589)
RTPCO0OOGQG
13.50% RTPTO0O0O0G(
(1.2589)
RTPCO0OOGQG
11.58% RTPTO0O0O0G(
(1.2589)
( ( ERO0O0Y9
TTPCO0O025
25.31% TTPTO0025
EPOO1
A=3 _ D22 B=10 420mm 500 mm




SPK20040329 0O -0022
D25 460mm 540mm 1
0. 00% 70. 09 % : 29. 91% 0. 00% 2,52
( ) ( ) ) (
RTPCOO0OOO
37.41% RTPTO0O0OQO
(1.2589)
RTPCOO0OOO
12. 67 % RTPTO0O0OQO
(1.2589)
RTPCOO0OOO
10. 87 % RTPTO0O0OQO
(1.2589)
( ( EROO0O
TTPCO0O025
29. 91% TTPTO0O025
EPOO1
A=4 _ D25 B=12 460mm 540mm




SPK20040329 0O -0023
D16 250 mm 300mm 1
0. 00% 78. 26% : 21. 74 % 0. 00% 1,30
( ) ( ) ) (
RTPCOO0OOO
43, 68% RTPTO0O0OQO
(1.2589)
RTPCOO0OOO
14. 79% RTPTO0O0OQO
(1.2589)
RTPCOO0OOO
12. 68% RTPTO0O0OQO
(1.2589)
( ( EROO0O
TTPCO0O025
21. 74 % TTPTO0O025
EPOO1
A=1 _ D16 B=2 250mm 300mm




Co ) SPK20040332 0 -0024
1 m2
0. 00% : 100. 00 % : 0. 00% : 0. 00% 1,860
( ) ( ) ( ) ( )
RTPCOO0O0Q2
33.36% RTPT000Q2
(1.2589)
RTPCO0O0O0Q1
31.34% RTPT000Q1
(1.2589)
RTPCO0O0Q9
24. 59% RTPT000Q09
(1.2589)
( ) EROO0DO9

EPOO1




0-0040

V5043005 0 -0025
54 m3
0-0026
10
1
0-0028
54 m3
54 m3




S5186

0

-0026

0-0041

100

0-0027

221kW

0-0015

#06

100




0-0042

S9728 0 -0027
5 40t 94k W 1 ( 8 1
6.3 10L 63/10
( )
1.20 1*1. 2
6. 00 5*1. 2
1 9
35 40t
1.65%1
35 40t
( )
1.65%1
300t
1
A=1 35 40t 94k W B=1 )
Cc=2 4 h




0-0043

( ) S5043005 0O -0028
( ) 10 m3
30-12-25(20) BB 10. 6 3
0-0029
m3 0.1
0-0030
ps 0.1
0.1
0. 2
0. 4
#06
0.5 %
10 3
1 3
A=2 50m3 100m3 B=5 ( )
C=335001001 F ( m3) D=1




0-00414

S5980007 0O -0029
m3
, 2 4KL 11

( )
.00
.90

90 110m3/ h

( )

.14

m3




0-0045

S9738 0 -0030
ps 1
8.6 10L 86/ 10
( )
0.24 0.2*1.2
1.20 1*1.2
1.20 1*1.2
1.20 1*1.2
1
D180PS 3 5t 4.9GT
( )
1.65
1
A=1 ( ) B=1




0-0046

V0151 0 -0031
1 m3
0-0032
1 m3
1 m3




0-0047

v0o15101 0O -0032
. 8 m3
1
(1. 2589)
3
(1. 2589)
2
(1. 2589)
#01
6
0.8




V3030005

0

-0033

100

0-0048

. 531

#09

10




0-0049

( ) S5298 0O -0034
1000
<JI SG3112>
SD345, D13 1,030 g
0.995kg/ m
1,000 g
0-00114
35 40t 94k W 0.
1 ( 8 )
0-0015
300ps 221kW 0.
1 8
1,000
1

>
n

19




0-0050

( ) S5298 0 -0035
1000
<JISG3112>
SD345,D16 25 1,030 g
1,000 g
0-0014
35 40t 94k W 0.
1 ( 8 )
0-0015
300ps 221kW 0.
1 8
1,000
1

>
n

19




0-0051

V1001022 0O -0036
D22xD22
D22xD22 1
D22 1




0-0052

V1001025 0 -0037
D25xD25
D25xD25 1
D25 1




0-0053

V1001016 0O -0038
D16xD16
D16xD16 1
D16 1




SPK20040412 0 -0039
M12( W1/ 2) x70 1
0.00% 93.53% 6.47% 0.00% 1,368
( ) ( ) ) (
RTPC000Q1
47.78% RTPT000(1
(1.2589)
RTPCO000(2
27.75% RTPT000(2
(1.2589)
RTPC000Q9
16.17% RTPT000(Q9
(1.2589)
( ) ( EROOO
TTPC00217
M12( W1/ 2) x70 6.35% TTPT00217
M1 2
( ) ( EZ0O09
EPOO1
A=1 B=4 ML12( W1/ 2) x70




v5180

0-0055
0 -0040
100

0-0014

221kW

0-0041

0-0030

#01

#06

100




0-0056

S9736 0 -0041
300ps 221 kW 1 8 1
18.7 10L 137/ 10
, 0.5
1.20 1*1.2
1.20 1*1.2
4 9
D300PS 25GT
( )
1.651
1
A=3 300ps 221kW B=1 1
c=2 4 h D=1 8




0-0057

o >
nou

w

SDT00033 0O -0042
1 m3
1. 00 M3
1
1 m3
B=2




SPK20040146 0 -0043
DI D 3.5km (2. 5km )
20.12% : 70. 66 % : 9.22% : 0.00%
( ) ( ) ( )
] [ ]
20.12% 2t
( ) ) ( ( ) )
( )
70. 66 %
1.2
2 4KL 9.22%
A=1 Co( ) B=2
C=2 DI D D=16 3.5km
E=1

N~




0-0059

V2001008 0 -0044
200 m
0-0045
200
200 m
0-0046
200
0-0047
=200m 110 1
2x 20 1000 2000
0-0048
1
0-0049
400 m?2
200 m




S5852

0

-0045

120

0-0060

120.

120




S5852

0

-0046

120

0-0061

120.

120




0-0062

V200100801 0 -0047
= 2x 20m 1000 2000 1
#300
10
1000 2000
#300
1,100

1000 2000




S5504001

0

-0048

0-0063

200m

m >
nou

=N

O0Om




V200100802

0

-00409

100

0-006 4

m2

< > (
25t 0.1
1,2, 3
0.5
#01
0.5
100 m2




V6001006

0

-0050

12.

0-0065

m2

(A)

(B)

(C)

#01




0-0066

S9740 0 -0051
FRP D 180PS 10.0t 132kW 1
A
3.7 10L 37/ 10
, 0.5
1.20 1*1. 2
1.20 1*1. 2
FRP 1
D180PS 10.0GT
( )
1.65
1

A=1 1 ( 8 ) B=1 FRP D 180PS 10. 0t 132kW
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